A & 0l & AtES & Al

FA S Y
M Kot 22l
CHel: XIsk 22l (XIsk=22l) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 315,250 282,026 33,224
Aot 2tel 315,250 282,026 33,224
Xgt== 2l (XIst=2tel) 315,250 282,026 33,224
Aot 2& 274,000 241,863 32,137
101 21AH| 30,727 25,085 5,642
04 JIZtN2Z2XNSE+ 30,727 25,085 5,642
OXlot=2tel 30,727
—QI2Y 90,2643 x1H+300! 27,080
— & HEE 27,080,000 * 1% 27
—UEEE 27,080,000& *1.75% 474
—=0=EE 27,080,000 4. 5% 1,219
—=0ALEE 27,080,000 *3.545% 960
—LEIIRAEE 960,000 *12.81% 123
—=SAELNE 300,000 x 1213 300
—g&4d0=s 300,000& x1H*13] 300
201 et 3| 171,363 147,285 24,078
01 AtR2te|Hl 96,339 7,741 24,598
OXIot EXx2=Y S| HEHA
416,660 x33 A-*432] 55,000
OXIsi4018% AHLANALY STIZ2 &
dE9 165,000 x28H A *43] 18,480
OXIgt=s= 2te| Xtg YxE
800,000 x1CH~ 128 9,600
OXIots 2X2=52 =EHHA
320, 0003 #3204 2 10,240
OXlot=s 2tel 22 8|
2,615,000& 2,615
OXIote =2HA W+=2J| 7 404
—2 ZERUY 13,2002 *20H 264
—RzZ2MH==5(24) 140,0003 18 A 140
02 S5=2g4l 75,024 75,544 A520
OZE2SZHMA 10,224
—2X2=g AHUSI Y|
22,0003 %3204 2=+ 123 8,448
—Xlotz= 012 FHTAAAE QIEHY 3
& 4,002 %377 A+ 122 1,776
ORst+ 2l 22 SFH|
150,000 *1CH* 12 1,800
OXiote BEX2=Y 4|
2,100,000 *309H £ 63,000
202 04| 1,920 1,920
01 =LHOLI 1,920 1,920
OXIot==2te| 0dd
20,0003 x2B 4212 1,920
207 ARl 19,990 19,973 17




FA S Y
M Kot 22l
CHel: XIsk 22l (XIsk=22l) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 H1ESHI 19,990 19,973 17
OXlotz= 0l AEHZA
64,4832 %3103 19,990
401 AIEHIX R0 47,000 45,000 2,000
01 A28l 47,000 45,000 2,000
OXlot+ 285 Xcl
1,500,000 #1000 2 15,000
OXlot== A XI&H 400,000& x250H 10,000
OXIot=0I8 HLAl AILBEX
2,200,000 * 107K 22,000
801 ofiell 3,000 2,600 400
01 Letoldlsl 3,000 2,600 400
oodisl 3,000,000 3,000
o2 (XIst=2el) 41,250 40,163 1,087
101 e124d| 40,793 39,750 1,043
03 SRA(FIH )22 U2+ 40,793 38,518 2,275
OXlot==2te|H 40,793
—JI22(958) 2,533,950« 18~ 12 30,408
—SEFHI 1,013,580 3 x1H 23 2,028
—dARsFtrE
2,031,330 x1&*13] 2,032
— NG 140,000& x 1= 123 1,680
— AR RRAY
14,1063 *150%+ 12+ 10A1 2+ 123 2,540
—ItEsE 70,0008 x1&x 122 840
—dtd0ls 1,264,440-1H 1,265
201 223 457 413 44
01 At22t2ltl 390 390 0
Onl =l 390
—-S= 60,0003 1 60
—ot= 50,0002 1 0
—&et=s 200,000& *1 200
— &gt 80,0002 +1& 80
2 352484l 67 23 44
OugaESyl 67
—SAE3HIES 40,0002 +18 40
—RAULEEE 27,0002 14 27




